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S 62 K) L 0 (84 (k) 1] 02 (k. )

b 5 2 Cl () (0 (k,m)[ 0 (k1))

(Z Ol (k) €3, (k) (] (le,m) 2] (k, r>>)
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gobgoooon
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(2.1.8)

(2.1.9)

(2.1.10)
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D(B) =g, 3 6(E - E, (K)).

(2.1.11)
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3

b=> {E(k) - E)r, (2.1.15)
i=1
K=k -k (j=1,23). (2.1.17)
r;JO0000000on
/ /
ry = %7
ki - (k5 x ky)
k; x ki
_ 2.1.18
"G K .
/ /
rs = /k1/—><k2/
ki - (ks x ky)

0000000000000000000000 (2.1.20000

Q  dSpw=k

Da(E’):gs(%)2 )

(2.1.19)
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f( I’ E2 +
(” )
,1 E3 ,r
(a)E ;’ p .r,
(b)E Ey )/
F !
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p(Er) = g0 3 Jn (v) 6 (E — B, (k). (2.1.22)

O000okODOO0DO0OnO0000DQ0O0ODDOOOODOD VY, (k,y)DO00O0DOOOOO
godboboboobdgbooboobobuoooogd

o (1) = Y 0 (1)) (r (K)| W (K, 1)) (2.1.23)
0000000 k0000000000000

0 o
”E’r):;gswﬁn d [, (x) %8 (E — E, (k)

(K)=E

:ZQS%/E(k):Edkwn(r)F (2.1.24)

0 ds
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% ) /En<k)zE o O B 0
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U, (k,r) = > C2P (k)2 (k,1). (2.1.25)

S

O000000O000 GrapheneD OO OOOOOOODDOODOOODOOOOODOO
gogobobooobobobbbbobbdgdbouoboooobooobooboon
g

i (k) = 7P (k,1) + 72" (k, 1) (i=1,2,...,n). (2.1.26)

Un (1:) = [ (K)) (¢ ()| Wy, (k1))
ZCQP ) i (k) (1 (k)37 (k, r))

—Ejﬂ%% ) s (%)) (s (1) 9787 (k1)) + C255 (k) [y (k) (s (k)| 478 (k, 1))}

={¢ﬁldWA ) (i ()|} kr>+@%(>wmmMMGMw%2 1))}

= {25 (k) [7R <kw+¢ “ (k1)) (¥R <kn+w“%kﬂw? >

+ C28s (k) [PR (kr) + 7 (kor)) (0FEF (kr) + o7 (ko) |7k (k1)) }

= { 2R () [97%° () + 975 (k,v)) + Ol () [07F (k,v) + 978" (k1)) } .
(2.1.27)

0000y (k,r) 00000000000 OOO0

[ (1) [P = { G207 () (0} (kor) + 078 (kor) [+ G (k) (07X (ko r) + 47 (ko) |}
< { G (k) [0k (kor) + 0787 (kr)) + Gl () [0 (ko r) + 787 (k1)) }
- C;iQAI)Z (k) €, mA (k) + C;iQBp (k) Cﬁz}g (k)
= |G (k) P + [ G5 () 1
(2.1.28)

00 |4, (r;)°000000000000000O0O0O0O0OOOOOOOOOOOO0
goood

dSE()=E

pa (E 1) = gs my {|02§> )P+ C |2}E(k):E b

(2.1.29)

gubdoguoogoogooobogn
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p(E,r;) Zpa E.r;). (2.1.30)

guogooobn
000000 (LbosS)DoooO (bos)coooooooon

D(E) = % /drp(E,r). (2.1.31)
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H(k) = Cfmfﬂﬁm><zm
<¢ Pz H|¢ pz> < Pz

gobooooobboabn

H|¢zpz>> (2.2.1)
Hl w Pz>
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Z k(BRARE) (o, (r — RY) |H| o, (r = RY)).

m,l

< 2pz

H| prz _

Pap. (r — RZL)>

(2.2.2)
ODOO00O0OR, =R} +ARDODOOO

(AP [H 03) = o S0 e (g, (v~ RY — AR) [H| s, (r —RY)) . (223

u m,AR

mO0O00O000000000000000000000000

<¢2pz

H| i) = S0 e R (g, (v — R — AR) [H 6. (r = RY)) . (224
AR

D000O0ORy00000 ARDOOO0O0O000000000000ARDOOOODOC
0000000000 |[H|¢3>)0

< 2pz

H|3P*) =g+ f2 (k). (2.2.5)
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00005 = (¢op, (rt —R™ — ARy) |H| ¢y, (r —R™) 0000000000000
0O00000000000000000000000000000000000000
0000000000000000000000000000000 (0 1.4)[11]0

Y = (P2p. (r =R — ARupnn) [H| 6oy, (r — RY)) (s = A, B),
% = (#2p. (r =R — ARunnnn ) [H| ¢op. (r —RY)) (s = A, B), (2.2.6)
Yo = (f2p. (t =R — ARnnnn ) [H| ¢2p. (r —RY)) (s = A, B),

= (¢2p. (r = R) [H| g2, (r —R")) (s = A,B).

OO0oooob0o AROODOODO

g = 3 eomecs

ARDDD

i1 1 S1
—9¢ ' 2vER g (Ekya) —i—eZ\/§’“~”‘17

B9 = 3 et

i kya 1 ik a 3 —i2kya
=2e2v8"" cos §kya +2e 2v877 cos §/<:ya +2e v37" cos (ky a),

Rlg= 3 etean

ARDDDD

= 2 cos (\/§kxa,> + 4 cos (?kﬂb) cos <gkya>.

(2.2.7)

gggobboobbbodoobboooouoboobobooobbooooobo

H (k) = ( SRR AR AR ALY ) | (228)
Yo £ (k) + 70 15 (k) g0+ f2 (k)
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gbobooogobboabbbd

S (k) = < 1+ s /o (k) s1fi (k) + 83 f3 (k) ) .

(2.2.9)
s fi (k) + 53 f5 (k) 1+ s/ (k)
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H,; (k) = ( 2m 2malfy (k)> ' (4.4.2)
27 fi (k) 2731 (k)
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0 Y6 fi (k) 2m 0
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0 293 f *1 (k) ’Yé h (k) 0
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flg2.f nUUU0DUOOOO0OUOOO0ODOODOOODOOOOODOODOOOOO0ObOO0n

O

U000 /home/students/eguchi/for/fl-graphene/

OO0 0000000000000 000000O0

flg2.f O OOOOODO

a program calculate pi-pi* band of N layer graphene
input : param.gra

output : flg2.dat

2009.10.23 by eguchi
2009.12.9 edited by eguchi

HEHHHHHH B R R R
gobooooooouobbbiooobibdl eigend OO0
gugodgoooooooonod

OO0
m: OO

HUFH RS A A

implicit complex*16(z)

implicit real*8(a-h,o-y)
read a number of layer

write (*,x) ’number of layer =’
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read(5,*)m
¢ this program calculate for eigen energy along
c with high symmetical line M-G-K-M .
c

¢ number of mesh in M-G is ’img’
¢ number of mesh in G-K is ’igk’
¢ number of mesh in K-M is ’ikm’
¢ total number of mesh is ’itot’
c

igm = 426

ikg = 501

imk = 251

itot = (igm-1)+(ikg-1)+(imk-1)+1
call eigen(m,igm,ikg,imk,itot)
end

HEFHHAH R R R R R

oo

subroutine eigen(m,igm,ikg,imk,itot)
HHHHHHRHFRHFFRH R RS RS RS R R R

gogbdoooobbobobobbboubobon

g
m: 0O
igm,ikg,imk : ODUOO0O kOO0
itot : kKUODODOO
ggdbobobddy param.grall U
g010 g03,g1l0 g5,s00s2 : DO UODOODOODODOODODOODO
e0 : DOOODODDOODO
dg : D ODOODOOODO
ag : oo
cg : oo
(OO : Phys.Rev.B78,205425(2008))
gogg
h : DOOO0OOOOOO
s : gogooo
e : OOoODODODOOO
xkx,xky,xkz : OO

en : UOOOOOOOO
U000bdl zhegvUODDODOOOOOODO lapackOD OO OOOU

g
flg2.dat : DUO0O0OO0OOOOOODOOOOOOODOOO

OO0 0000000000000 0000000000000aO0

HEHH R R R R R R

implicit complex*16(z)
implicit real*8(a-h,o-y)

25
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parameter (pi=3.1415926535d0)

real*8 e(2+*m) ,xkx(itot) ,xky(itot) ,xkz(itot)
real*8 work(6*m-1) ,rwork(6*m-1)

real*8 en(2*m,itot)

complex*16 h(2+*m,2+*m),s(2+*m,2*m) ,fkl,fk2,fk3

write(*,*)igm,ikg,imk,itot

n=2x*m
n2=(3*n)-1
zi=(0.0d0, 1.0d40)
sq3=sqrt (3.0d0)
read the parameter
open(b55,file=’param.gra’)
read(55,*)g01,g1,s0,s1,ag,cg
read(55,*)g3,g4
read(55,%)g02,g03,s2,s3,e0,dg
read(55,*)g2,g5
close(55,status="keep’)
initialization of eignvalue matrix
do j=1,itot
do i=1,n
en(i,j) = 0.0d0
end do
end do
produce k-vector
isum = 0
M-G
do j=1,igm
isum=isum+1
xkx (isum)=2.0d0*pi/ (sq3)*float (igm-j)/float (igm-1)
xky (isum)=0.0d0
xkz (isum)=0.0d0
end do

do j=1,ikg-1
isum=isum+1
xkx (isum)=0.0d0
xky (isum)=4.0d0*pi/ (3.0d0)*float (j)/float (ikg-1)
xkz (isum)=0.0d0
end do
K-M
do j=1,imk-1
isum=isum+1
xkx (isum)=0.0d0
xky (isum)=4.0d0#*pi/ (3.0d40)
& + 2.0d0%*pi/(3.0d0)*float (j)/float (imk-1)
xkz (isum)=0.0d0
end do
produce hamiltonian and overlap matrix
do j=1,isum
initialization of matrix
do k=1,n
do i=1,n
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h(i,
s(i,
end
end
c fk1 for
fki
&
c fk2 for
fk2
&
¢ fk3 for
fk3
&

do i

iq =

k)=(0.0d0,0.0d0)
k)=(0.0d0,0.0d0)
do
do
first neighbour
= exp(zixxkx(j)/sq3)+2.0d0*exp((-zi)*xkx(j)/(2.0d0%*sq3))
*xcos (xky (j)/2.0d40)
second neighbour
= 2.0d0*cos (xky(j))
+ 4.0d0*cos (sq3*xkx(j)/2.0d0) *cos (xky(j)/2.0d0)
third neighbour
= exp((-zi)*2.0d0*xkx (j)/sq3)
+ 2.0d0*exp(zi*xkx(j)/sq3)*cos(xky(j))

=1,m

(1-(=1)**1)/2

if(m == 1)then

h(2x*
else
h(2x*
end

h(2*

h(2x%

if (
h(2x*
h(2x*
h(2*
h(2*
end

if (
h(2x*
h(2%
h(2*
h(2*
end

s (2%

s (2%
&

s (2%

i-1,2%i-1)

e0 + g02*fk2

i-1,2%i-1)
if
i-1,2%i) = float(iq)*(g01xfkl + g03xfk3)

+ float(1-iq)*conjg(gOlxfkl + g03*fk3)
i,2%1i) = e0 + g02*fk2

e0 + dg + g02xfk2

i+1 <= m)then

i-1,2%(i+1)-1) = gl

i-1,2%(i+1)) = gd*x(float(iq)*conjg(fkl) + float(l-iq)*fkl)
i,2%(i+1)-1) h(2*i-1,2x(i+1))

i,2%x(i+1)) = g3x(float(iq)*fkl + float(l-iq)*conjg(fkl))
if

i+2 <= m)then

i-1,2%(i+2)-1) = gb
i-1,2%(i+2)) = (0.0d0,0.0d0)
i,2%(1+2)-1) = h(2*xi-1,2*(i+2))
1,2%(i+2)) = g2

if

= (1.0d0, 0.0d0) + s2xfk2

float(iq) *(sOxfkl + s3%fk3)

+ float(1-iq)*conjg(sO*fkl + s3*fk3)
i,2%1) = s(2*i-1,2*i-1)

i-1,2%i-1)
i-1,2%i) =

end do

call

do i
en

zhegv(1,’N’,’U’ ,n,h,n,s,n,e,work,n2,rwork,info)

=1,n

(1,3) = e(1)

end do
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end do
c output
open(66,file="flg2.dat’)
do j=1,n
do i=1,isum
write(66,30)i,en(j,1)
end do
if (j < n)then
write(66,%*)°&’
end if
end do
close(66)
c
30 format(i4,2x,f10.5)
40 format(£f10.5)
50 format(£f10.5,2x,f10.5)
c
return
c
end
c
C HHHHHHHHHHHH R RS HE R RS H R H

A2 nJ0000OO0OO0OOOO

flg3-3.f nJ0000O0D0OO0OO0OOO0ODOOOOOODDOODODODOODODODODODOO
0000 /home/students/eguchi/for/fl-graphene/

flg3-3.f DO O OO0OO DO
a program calculate density of state of N layer graphene
with tetrahedron method
by eguchi 2010.10.8
EE T s s S s s s s s
goboooobooooobbooubibild calbandd OO0
gobboooooon
ERN
m: 0O
bododobuoouil param.gralll
ag : goog
cg : ugg

HARFHHHHH AR HHAFHBRH RS HBHAH B RS H BB R H R B RH AR

OO0 0000000000000 000000O0

o8
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implicit complex*16(z)
implicit real*8(a-h,o-y)
implicit integer*8(i-n)
parameter (pi=3.1415926535d0)

¢ read a number of layer
write (*,*) ’number of layer =’
read(5,*%)m

c read parameter
open(b55,file=’param.gra’)
read(55,*)g01,g1,s0,s1,ag,cg
close(55,status="keep’)

sq3=sqrt (3.0d40)
c ’n’ is number of band

n = 2*m

c
isepa = 201
itot = 331

¢ make be same length ’kx’mesh and ’ky’mesh

xmaxkx = 4.0d0*pi/(sq3*ag)
xminkx = 0.0d0
c
xmaxky = 2.0d0*pi/ag
xminky = 0.0d0
c
isepax = int(itot*(xmaxkx - xminkx))
isepay = int(itot*(xmaxky - xminky))

call calband(m,n,isepax,isepay,isepa,itot)

end

(@]

HEHHHHH B R R R

a0

subroutine calband(m,nband,isepax,isepay,isepa,itot)
HHHH S R S S
O00ooooooooooood

oo
m: Qg
nband : 00O
isepax : kxU
isepay : kyU
isepa : U OO
itot : DOODOOOODODOOOODOODOO

goboo

xmaxkx
xminkx :

O0OO0O0O0O0000000000000O0
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g
sum ¢ JOOOOO0O0O0
comp : UOOOOOOO0OODOOOOOO
flg3-3.dat : UUOOOOO0OO0OOO0OOODOOO0O0OO0OOOOU

HEHHHH R R R R

implicit complex*16(z)
implicit real*8(a-h,o-y)
implicit integer*8(i-n)
parameter (pi=3.1415926535d0)
real*8 en(nband) ,xk(3)
real*8 ento(nabnd,isepax,isepay)
real*8 ent(2,3),xkt(2,3,2)
real*8 xen(3),xxk(3,2)
real*8 xenin(3),xxkin(3,2)
real*8 dos(isepa)
read parameter
open(b55,file=’param.gra’)
read(55,*)g01,g1,s0,s1,ag,cg
close(55,status="keep’)
defind some constant values
nb = nband
nl =m
isx = isepax
isy = isepay
it = itot
is = isepa
sq3 = sqrt(3.0d40)
mesh of energy
emin = -10.0d0
emax = 15.0d0
de = (emax - emin)/float(isepa)
mesh of k-vector
xmaxkx = 4.0d0*pi/(sq3*ag)
xminkx = 0.0d0
dkx = (xmaxkx - xminkx)/float(isepax-1)
xmaxky = 2.0d0*pi/ag
xminky = 0.0d0
dky = (xmaxky - xminky)/float(isepay-1)
calculate eigen value against all k-point on mesh
write(*,x)’caleig start’
do j=1,isepay
do i=1,isepax

xk(1)
xk(2)
xk(3)

dkx*float(i-1)
dky*float(j-1)
0.0d0
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C
call caleig(xk,en,nl,nb)
do iband=1,nband
ento(iband,i,j) = en(iband)
end do

C
end do
end do

c

write(*,x*)’caleig fin’
c initialization ’dos’

do i=1,isepa

dos(i) = 0.0d0

end do
c
write(*,*)’caldos start’
c
do iband=1,nband
c
ddd = float(iband)/float (nband)*100d0
write(*,70)ddd,’% fin’
c
do j=1,isepay-1
do i=1,isepax-1
Cc generate 2 triangles
call gen2tri(xkt,ent,dkx,dky,nb,isx,isy,iband,i,j,ento)
c
do 1=1,2
c
do 1i=1,3
do 1j=1,2
xxk(1i,13) = xkt(1,1i,13)
end do
xen(1li) = ent(1,11)
end do

¢ to sequence from maximum eigen value
call sequ(xen,xxk,xenin,xxkin)
c to calculate absrut of ’b’vector
call calb(xenin,xxkin,absb)
c to calculate density of state for one triangle

call caldosa(xenin,xxkin,absb,dos,emin,emax,is)

c

end do
c

end do

end do
c

end do
C

write(*,*)’caldos fin’

c output
write(*,*)’go output’

¢ calculate integration of DOS
do i=1,isepa,?2

61



OO0OA DOODOO

sum = sum + (dos(i) + 4.0d0O*dos(i+1) + dos(i+2))/3.0d0*de
end do
write(*,*)’sum=",sum
c compare with number of band
comp = 2.0d0*float (nband)/sum
write(*,*)’comp=’,comp

open(66,file=’f1g3-3.dat’)
do i=1,isepa

ue = emin + dexfloat(i-1)
write(66,50)ue,dos (i)

end do

close(66)

50 format(f10.5,2x,f10.5)
60 format(a8,2x,f10.5,2x,f10.5,2x,f10.5)
70 format(£f6.2,a5)

end

HEBHFHHHBHHHHH BB R H R R R R R R

O o0

subroutine caleig(xk,e,m,n)
B s s e S e s e e e s e e e e e e e e T g e e
Ox000000000000000O0DODODODOODODOO
00

U0 param.grall U
os2 : UUOOO0ODLOOOO0OODLOODODO
O

00000 zhegvUDODOOOOODOD lapack OO OOOU

g
e : DOOOOODO

OO0 00000000000000000000000O0
[
o

HEHAH B HAHBHHAHBHHEHBEH RS H AR BEHEHBHHEHBH RS H AR RS H AR RS HEHBH RS HBHH
implicit complex*16(z)
implicit real*8(a-h,o-y)
implicit integer*4(i-n)
parameter (pi=3.1415926535d0)
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real*8 e(n),xk(3)
real*8 work(3*n-1),rwork(3*n-1)
complex*16 h(n,n),s(n,n),fkl,fk2,fk3

nl =n
n2=(3*n)-1
zi=(0.040, 1.040)
sq3=sqrt(3.0d0)

¢ read the parameter

open(55,file="param.gra’)
read(55,%*)g01,g1,s0,s1,ag,cg
read(55,%)g3,g4
read(55,%)g02,g03,s2,s3,e0,dg
read(55,*)g2,g5
close(55,status="keep’)

c initialization of matrix

c fki

do k=1,n

do i=1,n

h(i,k)=(0.0d0,0.0d0)

s(i,k)=(0.0d0,0.0d0)

end do

end do

for first neighbour

fk1l = exp(zi*xk(1l)*ag/sq3)+2.0d0*exp((-zi)*xk(1)*ag/(2.0d0*sq3))
& *xcos (xk(2)*ag/2.0d0)

¢ fk2 for second neighbour

c fk3

fk2 = 2.0d0*cos(xk(2)*ag)

& + 4.0d0*cos (sq3*xk(1)*ag/2.0d0)*cos (xk(2)*ag/2.0d0)
for third neighbour

fk3 = exp((-zi)*2.0d0*xk(1)*ag/sq3)
& + 2.0d0*exp(zi*xk(1)*ag/sq3)*cos(xk(2)*ag)

do i=1,m
iq = int((1-(-1)%*i)/2)

if(m == 1)then
h(2*i-1,2%i-1)
else
h(2%i-1,2*%i-1)
end if
h(2*%i-1,2*%i) = float(iq)*(gO1*fkl + g03*fk3)

e0 + g02*fk?2

e0 + dg + g02xfk2

& + float(1-iq)*conjg(g01ixfkl + g03*fk3)

h(2*i,2%i) = e0 + g02xfk2

if (i+1 <= m)then

h(2xi-1,2%(i+1)-1) =

h(2%i-1,2%(i+1)) = g4*(float(1q)*con3g(fk1) + float(1-iq) *fk1)
h(2%1i, 2*(1+1) 1) = h(2%i-1,2%(i+1))

h(2*i,2%(i+1)) = g *(float(lq)*fkl + float(1-iq)*conjg(fk1))
end if

if (i+2 <= m)then
h(2*i-1,2%(i+2)-1) = gb
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(g}

h(2%i-1,2%(i+2))
h(2xi, 2% (i+2)-1)
h(2%1,2%(i+2)) = g2
end if

(0.040,0.0d0)
h(2*xi-1,2*%(i+2))

s(2%i-1,2%i-1) = (1.040, 0.040) + s2%fk2
s(2xi-1,2%i) = float(iq)*(sO*fkl + s3*fk3)

& + float(1-iq)*conjg(sO*fkl + s3*fk3)
s(2*%i,2%i) = s(2%i-1,2%i-1)

end do
call zhegv(1,’N’,’U’,nl1,h,nl,s,nl,e,work,n2,rwork,info)
return
end
B fe e e s i e S e s e e e s e e e s e e e e R g R e

subroutine gen2tri(xkt,ent,dkx,dky,nband
&,isepax,isepay,iband,i,j,ento)

B s S S R S S
bbb 2000gouooouobobonoooa

ERN

dkx : kx0O U

dky : ky[]D

nband : U0
isepax : kx
isepay : ky
iband : OO
i,j - oo
ento : U kUOOOODOOOOOOO

DDDDDDD

U

U
U
U
U
0
U

Ooooo
OoUdd
ooy
ooood
oot
ogfiy
o4O
Oopo4dd

gboobbon
gooooo

gooo

HEN
xkt : DUOOO0O0OO00O000
ent : UUUOODODOOOOOOOOOOO

HAEFHHHHHBRHHAFHBRHHBFHRAHHBRHHAFHBRAHBFHHAAH B HRA SRR R AR AR H
implicit complex*16(z)
implicit real*8(a-h,o-y)
implicit integer*8(i-n)
real*8 xkt(2,3,2),ent(2,3)
real*8 ento(nband,isepax,isepay)

patern 1
xkt(1,1,1) = dkx*float(i-1)
xkt(1,1,2) = dky*float(j-1)
ent(1,1) = ento(iband,i,j)
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xkt(1,2,1)
xkt(1,2,2)
ent(1,2) =

xkt(1,3,1)
xkt (1,3,2)
ent(1,3) =

patern 2

xkt(2,1,1)
xkt(2,1,2)
ent(2,1) =

xkt(2,2,1)
xkt(2,2,2)
ent(2,2) =
xkt(2,3,1)
xkt(2,3,2)
ent(2,3) =

return

end

subroutine

ERN

dkx*float (i)
dky*float(j-1)
ento(iband,i+1,j)

dkx*float(i-1)
dky*float(j)
ento(iband,i,j+1)

= dkx*float (i)
= dky*float(j-1)
ento(iband,i+1,j)

= dkx*float (i-1)
= dky*float(j)
ento(iband,i,j+1)

= dkx*float (i)
= dky*float(j)
ento(iband,i+1, j+1)

HUFH R R R

sequ(en,xk,ec,xkc)

B s S S R S

gobobboodboooob EeyE2,E30 0000000000

en : JOO0OO0OOD0OOO0OOOO0DOODO
:goboooooon

gooo
go

ec : JO00OO0OO0OO0O0OOOOOODODODOOODOO
ec(1l) > ec(2) >ec(®)IIODOODO
xkc : JO00O0O0OOOOOOOOOOOO

B S S S R S s s S S s

implicit complex*16(z)

implicit real*8(a-h,o-y)

implicit integer*8(i-n)

real*8 en(3),ec(3),xk(3,2),xkc(3,2),xmaxk(2)

do i=1,3
ec(i) =

do j=1,2
xkc(i,j)

end do

en(i)

= xk(i,j)
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end do

do i=1,3
Xmax =
do 1=1,2
xmaxk (1) =
end do
maxi = i
do j=i+1,3
if(ec(j) >
Xmax = e
do 1=1,2
xmaxk (1)
end do
maxi = j
end if
end do
if(maxi /=
ec(maxi)
ec(i) =
do 1=1,2
xkc (maxi
xkc(i,1)
end do
end if
end do

ec(

return

end

(@]

HEHHHHHHBHAHHH RS

O o0

subroutine c

HESHH

guooooogod
gd

HEN

absb : |bl

OO0 O0O0O0O000000000000000O0
el
=
'_L
w

i)

xkc(i,1)

xmax )then

c(j)

= xkc(j,1)

i)then
= ec(i)
Xmax

,1) = xke(i,1)
= xmaxk(1)

#H#H#HHH R HH R R R R R ST
alb(xenin,xxkin,absb)
Baibaibaibaiba bbb oo

OlplDOO0OO00O0O0ODOOOO

gooooood
00

g
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C HHHHHHHHHHHHHHHR RS HFHHH RS RS RS R R
implicit complex*16(z)
implicit real*8(a-h,o-y)
implicit integer*8(i-n)
real*8 xenin(3),xxkin(3,2)
real*8 xk13(3),xk23(3),xk4(3)
real*8 r3d(2,3),r2d(2,2),b(3)

do i=1,2
xk13(i) = xxkin(1,i) - xxkin(3,1i)
xk23(1i) = xxkin(2,i) - xxkin(3,1)
xk4 (i) = 0.0d0
end do
c
xk13(3) = 0.0d0
xk23(3) = 0.0d40

xk4(3) = 1.0d0

xk1234 = xk13(1)*(xk23(2)*xk4(3) - xk4(2)*xk23(3))
& + xk13(2)*(xk23(3)*xk4 (1) - xk4(3)*xk23(1))
& + xk13(3)*(xk23 (1) *xk4 (2) - xk4(1)*xk23(2))
c
r3d(1,1) = (xk23(2)*xk4(3) - xk4(2)*xk23(3))/xk1234
r3d(1,2) = (xk23(3)*xk4(1) - xk4(3)*xk23(1))/xk1234
r3d(1,3) = (xk23(1)*xk4(2) - xk4(1)*xk23(2))/xk1234
c
r3d(2,1) = (xk4(2)*xk13(3) - xk13(2)*xk4(3))/xk1234
r3d(2,2) = (xk4(3)*xk13(1) - xk13(3)*xk4(1))/xk1234
r3d(2,3) = (xk4(1)*xk13(2) - xk13(1)*xk4(2))/xk1234
c
r2d(1,1) = r3d(1,1)
r2d(1,2) = r3d(1,2)
c
r2d(2,1) = r3d(2,1)
r2d(2,2) = r3d(2,2)
c
do i=1,2
b(i) = (xenin(1l) - xenin(3))*r2d(1,i)
& + (xenin(2) - xenin(3))*r2d(2,1i)
end do

absb = sqrt(b(1)**2 + b(2)**2)
return
end

HEBHFHHH B H BB R H R R R R R R R

O o0

subroutine caldosa(xenin,xxkin,absb,dos,emin,emax,isepa)

HUHH R R R

aOo0o0o0

gbobboobboobobuooobbbbooobbobboobodd
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(@]

00
xenin : 00000000 OOOOOOOO
xxkin : OOOO0O0O0OO0O0OO
absb : |p|0O0O
enmin : JO00O0OOOOO0OOOOOOOOO
emax : JO0O00OO0O0OOOO0OOOOOOOOO
isepa : DO0OOODOOOOOOODOO
ooo0n
ecp : oooooo
xkout : UUOOOOO ecpU OO kOOOOOOOOODO
Oo0oooOoooo
ibeg : UOUOUODOODODOODOOOOOOODOO doOOOO
ooooo
ifin : D00OOO0O0OOOOOO0OO0O0O0O00 doOOOO
ooooo
dl : J000D000O0O00D00O0O ecpOononoonog
oo
dos : QOO

HUHHHH R R R R

implicit complex*16(z)
implicit real*8(a-h,o-y)
implicit integer*8(i-n)
parameter (pi=3.1415926535d0)
real*8 xenin(3),xxkin(3,2),dos(isepa)
real*8 xkout(3,2)
sq3 = sqrt(3.0d0)
ag = 2.4640
’omega’ is UnitCell-volum

omega =

$q3/2.0d0*ag**2

de = (emax - emin)/float(isepa-1)

to consider
ibeg =
ifin

only few energy in small triangle
int((xenin(3)-emin)/de) - 1
int((xenin(1)-emin)/de) + 1

do i=ibeg,ifin

do i=1

,isepa

ecp = emin + dexfloat(i-1)
for en(3) <= ecp < en(2)
if (xenin(3) <= ecp .and. ecp < xenin(2))then
d = (ecp - xenin(3))/(xenin(1) - xenin(3))

do j=1,2
xkout (1,j)=d*(xxkin(1,j) - xxkin(3,j)) + xxkin(3,j)
end do

d = (ecp - xenin(3))/(xenin(2) - xenin(3))

do j=1,2

xkout (2, j)=d*(xxkin(2,j) - xxkin(3,j)) + xxkin(3,j)
end do

dl = sqrt((xkout(1l,1) - xkout(2,1))*x*2
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& + (xkout(1,2) - xkout(2,2))x*x*x2)
dos(i) = dos(i) + 2.0dO*omega/(2.0d0*pi)**2*d1l/absb
c
end if
c for en(2) <= ecp <= en(1)
if (xenin(2) <= ecp .and. ecp <= xenin(1))then
d = (ecp - xenin(3))/(xenin(1) - xenin(3))
do j=1,2
xkout (1,j)=d*(xxkin(1,j) - xxkin(3,j)) + xxkin(3,j)
end do
d = (ecp—xenin(2))/(xenin(1l) - xenin(2))
do j=1,2
xkout (2, j)=d*(xxkin(1,j) - xxkin(2,j)) + xxkin(2,j)
end do

dl = sqrt((xkout(1l,1) - xkout(2,1))x*x*2
& + (xkout(1,2) - xkout(2,2))x*x*x2)
dos(i) = dos(i) + 2.0dO*omega/(2.0d0*pi)**2*d1l/absb

end if
end do

return
c
end
C
C HHHHHHHHHHHHHHFRHSHHFHHH RS RS HG R HF R RS HEEHHH R
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